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This decision marks another change of direction in the --------- - of the country’s education policy.
1) evolution 2) deduction 3) transmission 4) generation
The newspaper report did not ---—----- how the men were killed.
1) assign 2) debate 3) assume 4) specify
Children inevitably suffer problems of ~-—----— to their parents’ divorce.
1) controversy 2) adjustment 3) appreciation 4) compensation
Although she had been ill for a long time, it still came as a shock when she --—--—-- died.
1) randomly 2) reluctantly 3) eventually 4) specifically
The police department ----—-- that the number of violent crimes will increase this year by about 15%.
1) imposes 2) advocates 3) estimates 4) identifies
The city’s population ---—--- -- mainly Asians and Eumpeans.
1) compiles 2) deviates . 3) comprises 4) eliminates
dictates that it is the man who asks the woman to marry him and not the reverse.
1) Foundation 2) Convention 3) Constitution ~4) Orientation
To secure our future, we need a(n) ----—--- economic strategy for the nineties.
1) ultimate 2) considerate 3) imminent 4) consistent
There is no doubt that the Italian -------—--- of the play sounds better than the English one.
1) version 2) equation 3) appendix 4) document
Crude oil is industrially ----—------- to purify it and separate out the different elements.
1) refined 2) modified 3) converted 4) condensed

Royd is producing a film documentary 1hat will present Randall’s biography (11) --------== his poetry.
Randall served as general editor of the Press (12) ------------ 1965 to 1977. In the mid-seventies, printing
costs and the closing of many small bookstores (13) ---------- h{:_l_]fi___-:haxtend;d credit (14) -=--—--——- the Press
in financial straits. Boyd hopes her documentary on Randall (15) -------=-~- more people to African American
literature.
1)or 2) despite 3) as well as 4) in addition
1) in 2) from 3) during 4) between
1) that 2) where 3) from whom 4) to which
1) left 2) had left 3) was leaving 4) would have left
1) introduces 2) will introduce 3) is introducing 4) would introduce
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PART C: Reading Com

Directions: Read the following three passages and choose the best choice (1 ), (2), (3), or
(4)." Then mark it on your answer sheet.

The CDIﬂD]DIl- Agricultural Policy (CAP) has always been a difficult area of EU policy
to reform; this isda problem that began in the 1960s and one that continues to the
present day, albeit less severely. The Agricultural .Council is the main decision-
making body. for CAP- affairs-and 15 aextrousiy-manipulated-by those ‘states that hold
the CAP most dearly, such as Frﬁnce’.“-Abom_:’ all;-however, unam.mﬂy is needed for
most serious CAP reform votes, resulting’ in raré and gradual change. Outside
Brussels proper, the farming lobby's power has been a factor determining EU
agricultural policy since the earliest days of integration. This lobby's power has
decreased markedly since the 1980s, but even today some attempts at reform are
prevented by this group. In recent times change has been more forthcoming, due to
external trade demands and intrusion in Common.Agricnltural Policy affairs by other
parts of the EU policy framework; such-as'consumer-advocate working groups and the
environmental departments of the Union.

Which of the following is TRUE according to the passage?

1) EU policies are highly influenced by CAP.

2) EU policies have recently become less severe.,

3) Present day CAP issues are very different from those in the 1960s.
4) CAP is easier to reform today than it was in the 1960s.

The passage states that CAP———————-,

1) cannot be reformed without the agreement of all EU members.

2) determines the direction of Agricultural Council’s policies.

3) reform votes result in rare and gradual change.

4) was developed in France for the first time in the 1960s.

It is mentioned in the passage the farming lobby’s power in the EU ;

1) is in favour of reform attempts 2) is directed by CAP’s regulatio
3) used to be much stronger in the past 4) was a major factor in the EU’s integration
The passage refers to the fact that —-—-—-——o-

1) environmental issues in EU today can affect CAP’s affairs

2) CAP is rarely, if ever, subject to non-agricultural policies today
3) consumer advocate working groups are an essential part of CAP
4) EU policy frameworks often work in agreement with CAP
The word ‘dextrously’ in line 4 originally refers to the use of ‘
1) *brain’ 2) ‘situation’ 3) ‘time’ 4) *hands’
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When rich f:ﬂunu-ies subsidize -domestic produciion -excess output is often given to
the developing world as foreign aid. This process eliminates the domestic market for

agricultural products in the develupmg world, because the products can be obtained
for free from western aid agencies. In developing nations where these effects are most
severe, small farmers could no longer afford basic inputs and were forced to sell their
land. According to The Institute for Agriculture and Trade Policy, corn, soybeans,
cotton, wheat and rice are sold below the cost of production, or dumped. Dumping

rates are approximately forty percent for wheat, between twenty-five and thirty

percent for com (maize), approximately thirty percent for soybeans, fifty-seven
percent for cotton, and approximately \wenty percent tor rice. For example, wheat is
sold for forty percent below cost. If developed nations eliminated subsidy programs,
the export value of agriculture in lesser developed nations would increase by 24 %,
plus a further 5.5 % from tariff equilibrium. Exporters can offer US surpluses for sale
at prices around half the cost of production; destroying local agriculture and creating a
captive market in the process. Free trade advocawes desire the elimination of all
market distorting mechanisms (subsidies, tariffs, regulations) and argue that, as with

free trade in all areas, this will result in aggregate benefit for all:
1- The passage states that

1) the developing world produce suhs:dlzf:d domestic production
2) rich countries’ foreign aid is usually in the form of excess output
3) agricultural products in developing countries are subsidized by western aid agencies
4) western aid agencics disturb the domestic market for agricultural products in developing
countries
22- It is mentioned in the passage that -
1) farmers need basic inputs to survive
2) cotton’s dumping rate is higher than wheat’s
3) cost of production for wheat is lower that rice
4) thirty percent of soybeans is dumped in rich countries
23- Which of the following is TRUE according to the passage?
1) Subsidy programs are disappearing in developed nations.
2) US surpluses are exported at half of the price of their production.
3) Lesser developed nations can sell their products at %24 of their value.
4) The combined value of products is %29.5 of the production price.
24- It is stated in the passage that
1) subsidies can eliminate market distorting mechanisms.
2) tarrifs are even more harmful to free trade than subsidies.
3) the local agriculture is able to destroy its captive market.
4) the result of free trade in agriculture can be the same as that in other areas.
25- The world ‘aggregate’ in the last sentence is related to the word -
1) *‘exceptional’ 2) ‘farming’ 3) “total’ 4) ‘productive’
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Corporate farming is criticized for its tendency to concentrate food production,
through the adoption of methods which are designed to maximise crop yield. At the
same time, through a process-of vertical integration, corporate farming results in the
concentration of not only ownership of the means of production, but also the
distribution and sale of food which is produced. Over time this has resulted in the
steady decrease of the number of farms and the-percentage ﬂld:pendent farmers.
Those farmers who cannot compete or whose businesses are purchased are no longer
able to make independent production decisions, and are forced to sign production
contracts with corporations. This is essentially an anti-monopolist criticism, The trend
towards concentration began in the chicken and vegetable industries and has since
expanded to hog and grain production. In 1997, some 60% of hogs sold within the
U.S. were sold under some form of contract, whereas in 1980 only 5% of hogs were
sold in this manner. As production continues to concentrate and is coupled with
increasing reliance on technology, farmers complain about - their increasing
remoteness from centers of population or production. For example, farm machinery
repair services, which were once as close as two miles away, are increasingly as far as
40 miles away.

Which of the following about corporate farming is TRUE according to the passage?
1) It both distributes and sells the food it produces.

2) It is mainly concerned with the means of production.

3) It is able to vertically integrate all crop yield.

4) It concentrates mainly on the quantity of the food produced.

The word ‘this’ in line 5 refers essentially to 2
1) ‘crop yield’ 2) ‘concentration’ 3) ‘food production’  4) ‘means of production’
It is stated in the passage that ——-——-——,

1) farmers often sell their businesses to corporations

2) decisions made by corporations destroy independent farmers

3) corporate farming did not initially deal with grain production

4) production contracts with corporations are not profitable to farmers

The passage mentions that ——————- .

1) hogs began to be sold under contract since from 1980.

2) the long distance from repair services is a major complaint with farmers today.

3) the US was the first country in which corporate farming was practiced.

4) independent farmers today are unable to rely on expensive technology.

The word ‘steady’ is line 6 is most closely related to the word —————-- ;

1) ‘gradual’ 2) ‘sharp’ 3) ‘temporary’ 4) ‘heavy’
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